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EX/EE-303 (CBGS)
B.Tech., III Semester

Examination, November 2019

Choice Based Grading System (CBGS)
Electrical Measurements and Measuring
Instruments

Time : Three Hours
Maximum Marks ; 70

Note: i) Attempt any five questions out of eight.
ama wet A | gt uta weAl ol g1 AR
ii) All questions carry equal marks.
et geat & wu 3 €
i1i)Tn case of any doubt or dispule the English version
question should be treated as final.

foedt +ft e b g a1 fare Y ey 7 aiurft smar
& Y9 &Y Jfer JT AR

1. a) What is the loading effects due to shunt connected
instruments?

iR H TS SUHRUT e HROT AT I T & TSI
b) Describe the series and shunt type ochmmeter,

SGAT AT FHITGHH TP & AHHIER 1 AHETs|
¢) Explain the working principle of digital voltmeter.
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What is electro dynamometer wattmeter? Discuss the
working and construction.

seFeerAMIeR aredier (arfdammdt) o 8 ? 3wt 99T
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Write down the principle of operation and construction
of ballistic galvanometer.
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What is the difference between accuracy and precision
of a measuring instruments.

o (TagRRdt) 3R emefar (sfifverT) mToe SuwRol &
dra TR T R ?
Draw the B-H curve and explain 1t.
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How to measure earth resistance?

 gedlt HRRYe & AT 27

2. a)
b)
3. a)
b)
c)
4, a)

A voltmeter having sensitivity of 20 k€2/V reads 220V op
a 240V scale. When connected across an unknown resistor.
The current through the resistor 4 mA. Calculate the
percentage of error due to loading effect.
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b)

c)

a)

b)
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What do you understand by PMMC also discuss its
working. 1
av fermd § 7 aue € T@ 3D Brfdt of
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Explain the different types of errors in measurement.

fafr sreer 6 e Ffear it @z BRA|

Write down the difference between current transformer
and potential transformer.

URT ZFABIR 0@ g gTawrR & Heg 3feR garsd |
For a Wheatstone bridge circuit, what would be the reading
on ammeter if Vi = 6V, R, = .1Q2 and R were then to

deviate by small amount to R, = 3.01€2, what would be
the reading on the ammeter? Fig (1).

e i & 1 wher ¥ 77 397 @it avR V=6V,
R,=.1Qd2 R, ¥ B fAma & I R, = 3.01Q &nft
wfter it Afgn o7 ge FmA |

R =1Q,Ry=2Q
R,=30Q

EX/EE-303 (CBGS) PTO

6. a)
b)
7. a)

b)
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Write down the expression for control and deflection
Wirque also discuss their advantages and disadvantages.

Faifare sremeef &1 sifyeafera frRes va gads o e gt
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Measurement of power in three-phase circuit.

3-thet yfvuer &t aifder a1 J19 e

How to use Lloyd Fischer square for power loss
Measurements.
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What do you understand by frequency meter also discuss
about their types.
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&. Writeshort note on any three

a)
b)
c)
d)

Oscilloscope probes
Damping

Multimeter

Kelvin's double bridge
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